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PLAYERS:   Yoko Sobel – Silvana ROJKO

NCBO: USBF  USA – BZS SLOVENIA

1M (double) Transfer responses
Use when we open a major or overcall: 1M(*) or (1c)1M (*)

1M(*) responses:
1S response natural
1NT= clubs
2C=diamonds
1M (*)2M = 0-6hcps 3 card support
1M(*) 2M-1= 7-9hcps 3 card support
1M (*) RD = values asks p to bid 1NT or maybe penalize opps a rebid by
responder of 2M after RD shows 3 card limit raise
1M(*) 3M = 0-5 hcps 4 card support
1M(*) 3M-1 = 6-9 hcps (mixed raise) 4 card support
1M(*) 2NT = limit raise+ 4 card suppor

Optional Keycard:

2NT->3S->3NT
4C or 4D next bid is two small, partner will force keycard with the next bid OR
with fit give keycard response skipping next bid which means you do not like
the minor.
Example:
2NT-3S-3NT-4C-4D(two small)-4H(KC)-4NT(0/3)
2NT=3S-3NT-4D-4NT(Keycard response of 0

XYZ: on over 1C-1D

Over any auction beginning with 1X-1Y-1Z, 2C is artificial, forcing PD to bid 2D (can pass or next bids are invitational).
Over any auction beginning with 1X-1Y-1Z, 2D is artificial GF.

3C is a weak bid
2 ways to invite NT:
1m-1H-1NT-2C-2D-2NT= slow shows minor fit
1m-1H-1NT-2NT= no minor

WOLFE SIGNOFF

1m-1M-2NT auctions (17+-19)
3C= artificial and usually minimum p must bid 3D, after 3D responder passes
with Diamonds and minimum (0-6 HCP) or bids their major, IF they now bid 3NT
this shows SLAM in the original minor opener started with
IF SLAM 3NT rebid after relay the 4 of Minor is minorwood
3D= GF- opener shows 3 cad support for major or 4 of other major or bids 3NT
3M= GF with 6+ of the major



Leaping Michaels

Over weak 2 and weak 3 

(2 or 3 M) – 4C = C and higher suit (strong hand)
(2 or 3 M) – 4D = D and other M (strong hand)

(2 or 3D) – 4C = C and unspecified M (strong hand)
(2 or 3C) – 4D = D and unspecified M (strong hand)

Note 5

1NT auctions:

1NT-2C-2H-2S= inv with 4+ spades
1NT-2C-2H-2NT=inv w/o spades
1NT-2C-2D-2H=garbage stayman
1NT-2C-2D-2S=inv with 5 spades
1NT-3D(both minors GF) responses:
3H-5 hearts
3S-5 spades
3NT-to play
4C- like clubs (bidding next suit asks KC)
4D- like diamonds (bidding next suit asks KC)

A10

Spiral raises

1m – 1M – 2M – 2NT = asks, then:
3C=3card support min
3D=3card support max
3H=4card support min
3S=4card support max


